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ﬁg TREOBEBOSILEHOKRES TREDHBEEILEHOKRES TEFEOBRBOEILHDOKRES TREOHBESLADKRES
7 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % — — — —
s 1.00 | 0.00 ~ 4.69 5847 | FnLS | 000 ~ 469 1.83 9.24 st 1.00 | 6.00 ~ 5.00 58.47 | =ns | 5.00 5.00 | 1.83 9.24
2 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % — — — —
s 1.00 | 0.00 ~ 6.74 85.16 | =nLS | 000 ~ 6.74 | 1.90 9.62 st 1.00 | .00 ~ 860 85.16 | =hst | 5.00 8.60 | 1.90 9.62
3 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % — — — —
s 1.00 | 0.00 ~ 7.61 97.47 | #nLS | 000 ~ 761|221 11.15 st 1.00 | 6.00 ~ 1010 97.47 | =hst | 5.00 10.10| 2.21 11.156
4 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % — — — —
s 1.00 | 000 ~ 723 9201 | =04 | 000 ~ 000 1.77 8.93 st 1.00 | .00 ~ 9.20 92.01 | =hlst | 5.00 920\ 177 8.93
5 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % — — — —
s 1.00 | 0.00 ~ 746 95.34 | #NLS | 000 ~ 7.46| 2.35 11.87 st 1.00 | 6.00 ~ 1020 95.34 | =h4 | 5.00 1020 | 2.35 11.87
P 100kN/m##Bx5 | 1.00 | 000 ~ 071 110.66 |3mZBAB| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1062 ~ 1276 | 110.56 |3mE#BZ% — — — —
s 1.00 071 ~ 849 100.00 | =nhst | 0.00 ~ 849\ 2.12 10.73 st 1.00 | 6.00 ~ 1062 100.00 | =hst | 6.00 12.76 | 2.12 10.73
7 100kN/m%#8z5 | 1.00 | 000 ~ 0.72| 110.75 |3mE#Bz3B| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1053 ~ 1260 110.75 |3mE#BZ% — — — —
ZhLlst 1001072 ~ 851 100.00 | #nst | 000 ~ 851|220 11.14 zhilst 100 5.00 ~ 1053 100.00| Ths | 5.00 12.60 | 2.20 11.14
3 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % — — — —
zhLlst 1.00 | 000 ~ 6.08 76.25 | FnLS | 000 ~ 0.00| 1.70 8569 Zzhst 1.00 | 5.00 ~ 7.00 76.23 | =nS | 5.00 7.00 | 1.70 869
9 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % — — — —
ZhLlst 1.00 | 000 ~ 469 5843 | #hst | 000 ~ 469| 1.83 9.25 Zzhst 1.00 | 5.00 ~ 5.00 5843 | FhLS | 5.00 5.00 | 1.83 9.25
10 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % — — — —
zhlst 1.00 | 000 ~ 455 56.78 | #hst | 000 ~ 455 1.90 9.59 Zzhst 1.00| 5.00 ~ 5.00 56.78 | EhLSY | 5.00 5.00 | 1.90 9.69
11 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % — — — —
ZhLst 1.00 | 000 ~ 475 59.14 | =nLs | 000 ~ 4.75| 2.02 10.21 Zhst 1.00 | 5.00 ~ 5.80 59.14 | Fhst | 5.00 5.80 | 2.02 10.21
12 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % — — — —
ZhLst 1.00 | 0.00 ~ 347 43.90 | #hs | 000 ~ 347|221 11.18 ZhLst 1.00 | 5.00 ~ 5.00 43.90 | Fhst | 6.00 5.00 | 2.21 11.18
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD
ZhLst ~ ZhLst ~ ZhLst ~ st
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD
ZhLst ~ ZhnLst ~ zhst ~ st
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD
ZhLst ~ ZhLst ~ Zhst ~ st




